
Scientific Notation (H)Convert between scientific notation and ordinary numbers.
6.22 × 10⁵ = 6.91 × 10⁷ =
8,447,000 = 57,100 =

2.145 × 10⁸ = 230,000,000 =
5,860,000 = 590,000 =
5,780,000 = 7.284 × 10⁸ =
902,000 = 7.25 × 10³ =

9.2 × 10⁶ = 813,700,000 =
5,400 = 6,966 =

3.9 × 10⁴ = 4.7 × 10⁷ =
4.278 × 10⁴ = 522,600 =
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Scientific Notation (H) AnswersConvert between scientific notation and ordinary numbers.
6.22 × 10⁵ = 622,000 6.91 × 10⁷ = 69,100,000
8,447,000 = 8.447 × 10⁶ 57,100 = 5.71 × 10⁴

2.145 × 10⁸ = 214,500,000 230,000,000 = 2.3 × 10⁸
5,860,000 = 5.86 × 10⁶ 590,000 = 5.9 × 10⁵
5,780,000 = 5.78 × 10⁶ 7.284 × 10⁸ = 728,400,000
902,000 = 9.02 × 10⁵ 7.25 × 10³ = 7,250

9.2 × 10⁶ = 9,200,000 813,700,000 = 8.137 × 10⁸
5,400 = 5.4 × 10³ 6,966 = 6.966 × 10³

3.9 × 10⁴ = 39,000 4.7 × 10⁷ = 47,000,000
4.278 × 10⁴ = 42,780 522,600 = 5.226 × 10⁵
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